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IOPI  = I;;,
IOPZI

$1 ~a, +ib,
a2 + ibz

= x+iy

ada a,+ib,  = (a, + ib?)(x  + iy)

wio a, + ib, = (a2x - b2y) + i(a,y  + b,x)
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Fw x  66tlZ  y  Ml%lflfllmfhJ”ls

a2x-bzy  = a,

b,x+a,y  = b,

TlzlGY x  = a,a?+b,b,
a: + b:

6WSlZ~~~U 2 =
a,az  + b,b,

ai + b:
+i 0,  --at&

a: + b:

z2 = r,(cos  O2  + i sin f12)

fr  = r,(cos  0,  +i sin 0,)
22 r,(cos  8,  + i sin 0,)

=  2 =  r(cosB+isinB)

lwpw.%ll~nl~  e:wJ1  z, = zg

NTQ r,  (COs 8,  +i sin 0,)  = r,(cos  0,  +i sin 0,)  r(cos  B+i  sin 0)

= r2r/cos  (19~ + 8) + i sin (19,  + @I

oln~ulnrnlsaw’ln”~~~~~l~~~~~~~~~  WwJa’l
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3 _ r,  (cos 0,  + i sin 0,)-
22 r2 (cos Q2  + i sin 8,)

= argz,-argz*

,OQ,  = /Op,I

IOPZI
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n"dlsd 7.9 ~s9lleraPlanaaa~:tra~~~~~~l~~~~~~~~~ Z, = -3+2ibKE  & = 13-i
a4  0
am7 o-In zI+zL2  = (a,+b,i)+(az+bzi)  *

= (a, +a?)+(b,  +bz)i

&M”p 2, +zz = (-3+2i)+(l3-i)

= (-3+ 13)+(2-I)i

= lO+i

9lfl ZlZZ = (a,+b,i).(a>+b,i)

= (a,a,-b,bz)+(b,a,+a,b,)i

&IL ZlZZ = (-3+2i)(l3-i)

= [(-3)(13)-(2)(--I)]+]2(13)+(-3)(-1)ji

= (--39+2/+/26+3/i

z -37+29i

~~&14  7 . 1 0  8,~~l~aFil~LIa~:wa~l~~~~  z, = -3+2i ila= z2 = 1 3 - i
94 0
XiWl  s1fl z, -z: = (a,+b,i)-(az+bZi)

= (a,-a,)+i(b,-bz)

&ah ZI-z2  = (-3+2i)-(13-i)

= (-3-13)+i(2-(-1))

= -16+3i

Olfl 5= (aI + it4

21 (a, + ibz)

ala2  + b,bz= --+i (aA  -alW
ai + b: ai + b:

@Y&4 fi- -3+2i

z2 13- i
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